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1. The radiation which is trapped on the earth's surface by the green house

eftects

a) U.V. rays b) IR rays c) X-rays d) Allthe above
BT TS DOFFITODOTION LIRROCI0LS SoeTLTEID 30D

a) €8 309 0D b) es8rio%) 30D C) 3-30¢3 d) 8300 DR

2. The following is not a viral disease

a) Herpes b) Epilepsy c) Chicken pox d) HIV/AIDS
QT ROX° Q0TI WBIES FTOWS €90
a) BLFIF b) €890 C) AT d) O

3. The unit used to measure the noise levels
a) Calorie b) Decibel c) Ohm d) Pascal
BT SOFTIWIDIY, 22lateleinfS *lovebrnle
a) T, b) @wer C) wWaf d) mﬁef

4. The following is not a method of water conservation

a) Rain water harvesting b) Ground water extraction
c) Improving irrigation efficiency d) Avoiding water wastage
BT De> FOTYFS DGIDHL, ‘
a) 0P edI BRI, b) e303230F © BB
C) T e:ezpagpcp d) QeOT BRETONE SEOI0HT
5. The region where the fresh water meets salt water
a) Ecotone b) Ecaq c) Estuary d) Lotic
FTIOT, BT SO AT TS
a) &R CS® b) &5z’ C) 3D d) Snet3s®
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6. The unit which express the Ozone concentration in the atmosphere

a) Gram b) Millilitre c) Dobson d) Decibels
2WERERT OTFONRY, LIPORET SRVERT
a) Moo b) Q0ODeLIT* C) TOWS’ d) @awer

7. The plant species which serves as best biofuel

a) Jatropa b) Mimosa c) Acacia d) Silver Oak
VB 25,000 QOGN WHFFOTTMNOS #)ﬁg
a) 2eedneo b) S0WHS ™0 €) 1RwP d) 20,0° WE

8. The family programme was initiated in India in the year

a) 1952 b) 1970 c) 2010 d) 1947
FTBTE) BoEDOW 03REBWFOIRY, 230N 3003 A
a) 1952 b) 1970 c) 2010 d) 1947

9. Red data book lists out

a) Endangered species b) EXotic species
c) Endemic species ~d) Rare species
305 G008 PRBTE TNORVREIES 20D

a) DJODTI LI0LIIDTOTI 236 b) ORIQT 28eed

C) RVT XD d) eDVTRIT [

10. The disease caused by Cadmium pollution

a) Minamata b) ltai ltai c) Skinirritation d) Scurvy

59,0300 SOOISCA0TI LVOEIDTV FOOES
a) OTORIVEID D) QP00 B €) WBR0F DS d) RDF
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11. Study of trends in human population growth and prediction of future growth

IS called

a) Demography b) Biography c) Paleography d) Psychology
SBEDRT TNR POTIT WS 2083, LIPS0 R0FF T3 53,0308, Soeniaozo

a) WIROTY, TR, b) 23ee3s 2308 c) Fpeddpr,  d) [T TR,

12. The Ecological Pyramid which is always upright 7
a) Pyramid of Energy b) Pyramid of Biomass
c) Pyramid of number d) None of these
DORT QT OIRTONEL ROELQATINTIOR)TI
a) I L0 b) 20T o0
C) R0aT, LT d) QRN AR B

13. Nutrients are recycled in an ecosystem by

a) Biogeochemical cycle b) Energy flow
c) Producers d) Consumers
STOR/T ?%d:\jaojae?ﬁ s—ﬁeﬁd@oaﬁﬁ@ DSTOTIBE N FOOED

a) 208 TROOVE AODY b) 33 3OS

C) LUSITTO d) z;ﬁiﬁda

14. Hydrological cycle provides

a) Fresh water b) Nitrogen

c) Carbon dioxide d) Allthe above
ZORTLPOI facﬁaigi L BNROBTS

a) ebz:jp QETO b) TT%Is

C) QOMOVT &, &8 T3 d) 83 0T e
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15. Fossil fuels and metallic minerals are

a) Renewable resources b) Non-renewable resources
c) Inexhaustible d) Allthe above
THOIVPENGD ToN DIWNED
a) mm@dmm%w Sl D) mdoeepds‘aﬁ.raeé B ROTSBY
C) SONCT 0TS d) 33 30O @g@ﬁ%
16. The following is an example of ex-situ conservation
a) Sacred Groves b) Field Gene Bank
c) National Park d) Wildlife sanctuary
wdﬁﬁ Nodﬁmﬁ BT SVTTODOT
a) wazw;ﬁ b) F0Ze0&Q D
C) Ty, eocb VT, DR d) SR
17. Noise is measured in terms of
a) Decibel b) Millimeter c) Dobson d) Decimeter
BT LIPOI0T DGO
a) B D) QODOCLIT® C) ToWS’ d) @0eT*

18. Carbon credit is meant for

a) Deforestation b) Rural infrastructure

c) Diamond trading d) Environmental protection
TOWFQ® BT 0T

a) LOTB b) B9 N o

C) ﬁ% mﬁmd d) w@ndn)o{%w

19. The Water (Prevention and Control of Pollution) Act was enacted in

a) 1981 b) 1986 c) 1974 d) 1972
250 (aba@a’;s 3T 0B o002 sa) ;'Jodgﬁ andaodao 2DON LWOT DAEF |
a) 1981 b) 1986 C) 1974 d) 1972
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20. The following is not a fossil fuel

a) Petroleum b) Coal c) Uranium d) Naturalgas
33 BENST CINTYTO TSI 7
a) edRedCId0 b) 5T o) JevebioleNiovele d) = dz,:méb% NS
21. The following is @ major cause of large scale children’s mortality
a) Diarrhoea b) Measles
c) Chickengunya d) Malnutrition
dﬁ@’ 20083 mdea% 50T TWTI0D L0
a) ?je& b) e ToBORYTR
C) &35597'{3@25 d) e3TTT WD o.ﬁé’
22 The following is not caused due to noise pollution
a) Hypertension b) Deatness c) lrritation d) Diarrhoea
B3 TSI BLRPOY, 33 VOFFOTWORY),
a) C3TRR2E b) VIR C) 20033 d) 3e&
23 Use of microorganism metabolism to remove the pollutants such as oil spills
IS termed -
a) Biomagnification b) Bioremediation
c) Biomethanation d) Bioreduction
TNCTOS 2F8, 3eL0EA0BH NI Ieseas) DRIRF O [T BRT £20 ¢ DFNG
23e£9F §030032)
a) té’éb% 525@3 ) 2308 QWWFOT
C) a" T @oaﬁéeeﬁaﬁ a? ST CATVTRF LD
24. The State with maximum percentage of mangroves
a) Gujarath b) West Bengal
c) Orissa "‘ d) Andhra Pradesh
28,08 TR RTIRO BT, 0N, 6 wdeésﬁm%ﬁmm oo,
a) rbzsoaaﬁ b) w%EﬁJ NIOIADL
C) WO | d) Qﬁodwdeé
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25. Biological indicator of Sulphur dioxide pollution

a) Bryophytes b) Algal bloom
c) Lichens d) Fugus
NOG3D G, 38 BOOT30 25,008 RUOL3B
a) 2),03PeTEIDNED b) S0 LR
C) D8 d) éé’)eocﬁr{%ﬁo
26. O, stands for _
a) Ozone b) Oxygen c) Carbon d) Helium
O4 00 D78 B _
a) wERes b) &02%:53 C) BVoOM® d) &edodo

27. Goitre is a disease caused due to the deficiency of

a) Calcium b) lodine c) Zinc d) lron
NYNOT BREN) Q0T RTINS
a) 5000 b) ea030eB3° C) A3 d) éa%sa

28. Organism which converts light energy into Carbohydrates are
a) Autotrophs b) Heterotrophs c) Saprotrophs d) Omnivores

RRODF B BBOIOT BTV LUTIORI 22N
a) R,000 gPERTCO b)) TT Fpemsd C) QT FPERTTD d) ©FpegFTO

29. Seed Bank is a part of

a) Ex-situ conservation b) In-situ conservation
c) Main conservation d) Innconservation
20023 ﬁodﬁﬁoﬁw

a) o—u“dm@d ROTT b) > 15 ROTBES

C) R0, AOTBFD d) w.},vodﬁs@
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30. In an ecosystem the one which shows unidirectional flow

a) Carbon b) phosphates c) Energy d) Nitrogen
DTSN, QBN HOCIND T
a) TOWFS® b) spomees’ c) o3 d) FTHI3

31. Vermi composting is carried out using

a) Fungus b) Animals c) Earth Worms d) Planktons
zaf’éfi)ﬁ r’{ra%dda’.\gt 2alnteleln! emabpé BRTIS S
a) d9eon b) &9,edns0 C) QTTILONE d) T0F° LT’

32. A primary pollutant in air

a) Chlorides b) NOX

c) Sulphates d) Nitrates
MOPODATE 59,508 BIOT, 0T

a) 3Re3 TN b) ROTHRITE &3, BN
C) Noos d) S5 eLonsd

33. The one which is not a major ecosystem

a) Tropical rain forest b) Tropical deciduous forest

c) Temperate evergreen forest d) Mountain and glaciers

83 BPNT 030RYTO T80 TOAT dgsd:é’p ¢

a) SOFOI FTOTOND b) BT NENL

C) QS BOT,EDF T3 TOTONED d) @S Berdned s08Y &0 T,T5eT
34. Earth’s core is mainly composed of

a) Nitrogen b) Carbon c) lron d) Calcium

23RQ0CT BYT FEODNTE)  ITFTONTOD 30D

a) TOTVHIB b) Qoo C) VD d) 8,900

nil b il Pl Sl
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35. Hotspots are areas

a) Extremely rich in species b) High endemism

c) Extremely scarce in species d) Under constant threat

2RTILNG D TIEBNSOTT

a) T3 B3NP 00T ,?gﬁ b) 98035 k;e:)eodaé

C) T3 T[YIeTNT BROS030Y, DTS d) oInRTINR DOBINAPTBEIT &,
36. Hepatitis is a disease caused due to

a) Radioactive rays b) X-rays

c) Water contamination d) Allthe above

B0 L3CAT THOBOIN elateleranlperia

a) BeB03ne V0D b) i—%dsa

C) O OIS d) 8330 D,

37. Air pollution from the automobiles can be controlied by fitting

a) Electrostatic precipitator b) Wet scrubber

c) Catalytic converter ~d) Allthe above
SODINYOT mcciwdm@ﬁegd:% BBENLT DO

a) NSBR ) CROLSE? QRQEICEIT® ~ b) dw%%oﬁ

c) Be30ess* B 837 O° d) 830D U TS

38. The substance responsible forOzone hole

a) CH, b) CFCs

c) CO, d) Allthe above
A A o’oz_@%& Eads‘am_d R

a) QOTe* D) RedeTF AN

C) ROTOD T 5T & d) 8330edT e,
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39. Nuclear fusion reaction occurs in the

a) Stars b) Sun c) Hydrogenbomb d) Allthe above
afazsiojocf “-@25235‘ 30300300 QY STEODT
a) JeZ0O, b) RRODFI. C) WOWIT LWL d) B3 =0eOT D).

40. The leader for Chipko Movement

a) M. C. Menhta b) Atal Behari

c) Sundarial Bahuguna d) Kuldeep Singh
3TR, 238039030 €S0

a) NWI’. . OBV  b) ewer Wxd
C) ROOTTRE® LWIBINOED d) B0 QoM

41. Terrace farming is practiced In

a) Coastal areas b) Hills c) Deserls d) Plains

aimrawdté T AC30 FB3OBTATOB BT

a) FOOTP BTED b) roEmeT DT C) TWOTLOMDTED d) A0S BT
42. Solar photo voltaic system are more suitable for

a) Domestic lighting b) Street lighting

c) Small power plants d) Allthe above

JOTNTS? BRE3NG DTS TIOD 28 QT 33%5:@?\53

- a) NPT b) 2268 QX

C) REY TR DT d) 830D T
43. The methane content in Bio gas

a) 15% b) 65% c) 35% - d) 7.5%

23,08 BROTOTT QFET® BROT HTIED

a) 15% b) 65% c) 35% d) 7.5%
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44. Geothermal energy IS

a) Electricalenergy b) Turbine energy c) Heat energy d) Solar energy
3PN JFOT 20T
a) WO >3 b) M9 3 Cc) emdm 23 d) R°C 23

45. |ICDS is a welfare scheme for

a) Public b) Women c) Men d) Children
ICDS 200030 Q0 ieaﬁmpaé@@odo gete
a) TWFWIT b) &0&% C) PR d) =98

46. Lime is added to the soil to reclamate of the condition of

a) Sangy b) Acidic c) Alkaline d) Saline
=030 :bsgadag DOFTIREOR)TBO0T, &4 r{md&}i Sdr\’&g}o&do
a) TP NoLe b) 3530603 MoED c) TBFpoecd moep  d) ©iEEdeodd ™

47. Alpha diversity refers to

a) Genetic diversity b) Species diversity

c) Ecosystem diversity d) Diversity among the plants
SR D3OI fadg [OLORATS

a) ©0TedECL FIRI b) 23ed FORS

C) ROAT FIT3 d) 7R, FNR3

48. Vanamahotsava is celebrated on

a) 2ndJune - b) 1stDecember  c¢) 15t September d) 15! July
DITITR SR °3230R0% O
a) WRI 2 b) &xowT® 1 C) ARPWT*15 d) =g, 1

————— rull
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49, Association of animals when both the partners are benefited
a) Mutualism b) Commensalism ¢) Antagonism

COITIIORBIIOTT 332,69 RFBLICTD
a) TORTOTOOWS b) AR WS C) QTOTLOWS

50. The following is biodegradable

a) Fruits and Vegetables b) DDT

c) Cocoon d) Polythene
SO QPN A

a) e -3TTONTO b) 3Re3

C) T3 nemd d) ORI

51. Adverse effect of the industrialized agriculture
a) Water pollution b) Soil pollution c) Waterlogging

%mbéeﬁoé d%dmcﬁad Q:QCB; OO
a) xORROF, ) IRATCIONPIO C) QeTO QRN

52. Organic farming is
a) Enhancing biodiversity
b) Improving the biological activity
c) Farming without the use of pesticides and chemical fertilizers
d) Allthe above

TOTOLET F 0% OFFOR

a) WD NTI0D QDT

D) 2§08 803003 LURHS

C) TomRCIRT ) 3eL3T0BT T T
d) 83 0T D,

SPACE FOR ROUGH WORK
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53. Population stabilization is essential for
a) Agriculture improvement b) Economic growth

o4.

Dd.

50.

c) Industrial expansion

d) Sustainable development

232085030 DO £9Y fad%ﬁ LIS ONT

a) TNOPIO
S o s
C) %mbﬁ‘a QRO

b) BRFF LRI
d) 3T eTO

Presence of high levels of nitrates in water causes

a) Dehydration
c) Methemoglobinemia

b) Pneumonia
d) Polio

203 %@gewﬁ% SIATIADIASINEISIDING

a) S0DoT
C) Qe &30 K0T

b) TB&es3
d) Zpedodee

ELISA Testis used to detect
a) Choiera b) AIDS c) Swine flu d) Dengue

DT ﬁ@eiomod OO EI030T TS

a) FToOTD b) e’ C) DT d) done
Nuclear power plant in Karnataka is located at

a) Sandur b) Kaiga | c) Raichur d) Bhadravathi
BIOF 3B 9600 DTS m@dd&bcﬁod :J;@;

a) ROTWRD b) 3w C) TOCIR3IRTO d) PTo=e

57. The protocol that reduces green house gas emission is

a) Kyoto protocol
c) Montreal protocol

b) Cartagena protocol
d) Vienna protocol

BT SRONE WRMECD i TTews 5903,

a) édéirae 5203
C) S0EONST T3

b) ot eiSme 52030
d) é;)odaés%o 52030

e
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58. Radiation absorbed by Ozone layer is

a) Infrared b) Ultraviolet

c) Gamma rays d) Visible

22300 TWITO BoOBRTY FTEINED

a) FoeD) FTEANGD D) €98 0L BTN
C) oI DBTEIND d) 633 DBOLANGD

59. Drip irrigation reduces

a) Evaporation b) Salinization c) Percolation d) Allthe above
TR NCTOROCIN fada’% TR DRTBIBD.
a) S3CINNINT D) ©=e3e30ED C) &CTONT d) 8330eDT 2.

60. The following is an inexhaustible resource

a) Fossil fuel b) Solar c) Coal d) Natural gas

OTITIRERF TR, AOBTRLE, VTTOBHOT

a) DVSOPS b) AROIFTB c) sYTED o) IESPRARIVES/ SIS
61. DDT is a

a) Green house gas b) Degradable pollutant

c) Non-degradable pollutant 'd) Allthe above

DDT 0320 20T

a) TITO TIICI 2 b) NTL3IBTT

C) QPUINRFROY, d) 83 &0edT DO

62. As per EPA 1986, Environment does not include

t

a) air b) land C) space d) water

1986 T EPA 50T amd ©0R08, A¢0TOY0L,
a) MY b) e C) &3 d) QeTo
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The least porous soil among the following

a) Loamy b) Silty
c) Clayey d) Peaty
83 FENIQYNYY_ TR0 TP Y, YR
a) 053 fpm b) o500 0830,
c) ﬁe@ dmm d) éDcuz:sodJoé e.dﬁ&b

The percentage of fresh water in the environment

a) 87.5% b) 2.5% c) 97.5% d) 75%
TORTTO Ao QO Ty

a) 87.5% b) 2.5% c) 97.5% d) 75%
World Environment Day is celebrated on

a) June 5t b) May 22nd c) March 20t d) Aug. 151
aaﬁd 2ORT adaﬁ&g{ S0T E3IORTONOST.

a) 53¢ xe® b) 22 Se e c) 20 Je=wEF d) 15Sesns’
The faecal indicator bacteria in water is

a) Staphylococcus aureus b) Streptococcus faecalis

c) E. coli . d) Salmonella typhie

Q0T B[RV T do%ﬁ@{ BRWROYT

a) TWFHRTITA® b) R 0FITR° 59, OF

C) B BReY . d) To* a:")faesm é3w

Disturbance in which nutrient cycle increase in mean temperature of the earth 7
a) Nitrogen | b) Carbon

c) Sulphur d) All the above

3T FPERTO0T BT LI ST éw%d@cﬁaod LTI FOLSRISTS ?

a) FTEIB b) oo

C) NOTB d) 83 30eDT DD
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68. Biggest source of nitrate pollution in water

a) Human waste b) Agriculture runoff

c) Timber harvest ' d) None of the above
260RE). FH 1 OSSR Bed) T0

a) SIPTB T, b) & 39%,

C) SOTFTX d) S0edI BRJTR @O

69. Carrier of Dengue disease IS

a) Aedes mosquito b) Culex mosquito

c) House fly d) Anopheles mosquito
CSOMR, 25 O BT HOBIBTS

a) DR ARY, b) 3R,8F ARY

C) Bed d) QO ZRY

70. The State which is known as Tiger State

a) Gujarath b) West Bengal
c) Madhya Pradesh d) Kamataka
83 Doz BT, TOONT Ty (8o’ Aees* ) DOT FBOIVZVT

a) MO%TOS® b) 'w’%dda*womﬁ
C) FHTED d) 3JoFe3d

71. WHO stands for

a) World Health Organisation b) World Healing Organisation
c) World Heart Organisation d) Allthe above

WHO 97 2 8o |

a) T B SNFFRESI b) S &edor® BNFFeBS

C) R T ejrfraiej&'?eeiaf

d) 330D DR
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The following is a non metallic mineral
a) Copper b) Gold

eﬂeiraeaﬁ BT NVTODO
a) aada b) 433

X

GIS means
a) Geographical Information System
c) Geochemical Industry System

GIS T DN 3 BRD
a) mdfaem B AT FOTIS® AFRT’
C) 8&1@@%&33@‘ faozsﬁq QR

E-waste is
a) Degradable waste
¢) Municipal solid waste

E-29. %)
33535 DU IRNIBES

wﬁam%

610 18

VIR VAR

c) Sulphur d) Platinum

C) no%3 d) oedso

b) Geological Information System
d) Genetic Information System

b) 2303ReeRLTL AT FOIDI QR
d) 23T AT TGS AP

b) Non degradable waste
d) Automobile waste

b) 2§03 NTPWIOIRMORYY.
d) m&aﬁ Z0.%,

Precipitation is induced by adapting the phenomenon

a) Infiltration
c) Evaporation

ROLD BEIWFOIN ATIOOT ESNIBT3
a) SUFORYT
C) SBCINNI0TS

A paddy field is an example of
a) Fresh water ecosystem
c) Engineered ecosystem

0BT TOTD “acﬁj NTTOROH
a) 532%@665 DORT
C) 2085 TOXT

b) Cloud seeding
d) None of the above

b) SBrer VST
d) S0edT cIRPre ¥

b) Terrestrial ecosystem
d) Marine ecosystem

b) «T¢es, WORT
d) z© IO
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77. The lichens and moss stages are seenin

a) Hydrosere b) Psammosere
c) Lithosere d) None of the above
FEY BRNTL TONR BNRF® FOBRITIW Te€D
a) OO0 b) 50030 TOIT
c) 23R WORT d) RBoedT ARPTR B0
78. ldentify the detrivore organism
a) Salamander b) Insects
c) Hydrilla d) Vulture
BRYS 09,9 dﬁré QTR YVTODOED
a) Nema’moaa’cf éi)oedo b) dee3ned
) B, d) Ceomm,
79. Inatood chain, humans are
a) Producer b) Primary consumer
C) Secondary consumers d) Both b) and ¢)
STHOT ATRPCRYD BRI
a) YUBITT b) Tpd LITT
C) 8,303 20PN d) b) =022 c) DTTBH
80. International Women'’s Day is celebrated on
a) Aug. 15t b) March 8t c) Sept. 281" d) Jan. 26t
woa’dcraw eoda 08T @sd?\b BOT ERIDRRNOBTS
a) Sna’ b) SR8 c) SO0 28 d) %=3=026
81. Extensive damage caused due to oil spilisis to
a) Birds and mammals b) Reptiles
c) Coral reefs d) Fishes only
aniateln! abe@“n’d@ D éeméséo&)od TONTRBTIONOS T30
a) Tevo IBy AZIME: b) erBRRE
C) Sﬁ%?d as% d) QOETONED =T
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82. Water dispute for the Cauvery water is between

a) Andhra Pradesh and Karnataka b) Tamil Nadu and Karnataka
c) Kerala— Tamil Nadu d) Andhra Pradesh — Tamil Nadu
5923¢0 Ve 9, %, B3 TOWMPTT AOLOPITS
a) $303, @cﬁesﬁ ) BIOF 3T b) SL0P0TRD 030 BJoF 83T
C) BeTF - SROOTOTO d) 503, DTET ~ SROPOTTD
83. Global warming is due to the increased level of
c) NO, d) Ozone
2IONET SO LTONFO3D BTWT BUFOOT BSMOZTS {
a) YOV B, 8 = b) nopsm &, w53 °
C) JOTVRIBD @, e.-%) 5,5 d) 2230e°
84. Enrichment of nutrients in the water body leads to
a) Eutrophication b) Entrophication
c) Dystrophication d) Allthe above
ZEBONDT TP CRBTIOBNED éedeémrb@d% B, LTOVRITY T
a) odoeinedess® b) Dotdn e dessE
C) BRR,RETT d) SocOTRNT D
85. Intensity of earthquake is measured by
a) Altimeter D) Radiation meter c¢) Richter scale d) Lux meter
ARBOTTNT ée@éodoz&g{ EAPOT WIVDF
a) 8O =IE b) 3059 00T C) O30° JINTF d) J% x0ees
86. Deforestation generally decreases
a) Rainfall b) Soil erosion
c) Drought d) Global warming
206D, OB mmgmﬁ :addg{ ﬁ:f)\z’ogd
a) oD TR b) w30 R33
c) o d) 23oNST FoD=NI
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87. The following is a major source of ground water contamination

a) Agricultural products b) Landfills
c) Under ground septic rocks d) Allthe above
S0BWE© FLIKSTOY,L0 33800 WPV
a) T B|ANED b) Jepds
C) SYTIT WOk d) 83 B0eDT Y,
88. Main objective of Family Welfare Program Is
a) Population control b) Disease control
c) Corruption controil d) Allthe above
BIL300L) 03RELIIOR TV, N0
a) &S 50355 833 b) Bren QRWRFOT
C) PRI DRAURF O d) 83 30eDT DU,
89. The cause for the loss of biodiversity
a) Ecotourism b) Construction of dams
c) Agricultural activities d) Allthe above
2305 33 NTIOD OIS 0D
a) WOXT TR b) €IETLINE QIF €3
C) 3 LIODUT d) 83300 D
90. The following is an example for biopesticide
a) Jatropha b) Neem c) Acacia d) Nilgiri
z%ébﬁ $08L3 mzﬁééd VTIBOTD
a) wtdRem b) 23y C) e2FedOTm d) Qewnd

91. A non pollution fuel

a) Natural gas b) Petrol c) Coal d) CNG
m&-%d&ﬁ AT '
a) A,T00E LAV b) Zednees® C) BT d) 2.Q3°.23.
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92. Economically unproductive land -

a) Wetland b) Mangrove
c) Waste land d) Agricultural land
SR TN QTIOZOINT IR
a) 30 LR b) &3,0np e
C) WO 23R d) & R

93. Damage to the leaf structure due to air poliutants
a) Yellowing b) Death of leaf tissue
c) Falling of leaf d) Allthe above
Wplever dm@%@ocﬁ DONEG D3N BoFOMORYT0 QLO0W
a) TSI b) ¢ omoodng o3
C) NS NTONB d) 83 B0eAT ),

94. Nagarjuna Sagar dam is built across the river

a) Ganga b) Cauvery c) Namada d) Krishna
NOMOTIF S FONO @ﬁﬁ&ﬁ 53 SON LTON FLTONT
a) moro b) FoIed C) DFTD d) 3R

95. Plants growing in dry condition

a) Hydrophytes b) Saprophytes c) Xerophytes d) Mesophytes
ey DOTITTEITY) LIFOT0ED AR
a) DERHES b) mo.p, e C) DPTReH)E* d) QoRReRES

06. Tobacco addiction is caused due to

a) Cocaine b) Cafteine c) Nicotine d) Histamine
ForTd 1363 VT3 e
a) 3RFTI® b) FeS® C) DBROCLIS® d) &R’
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97. The mosquito repellants are
a) Fungicides b) Insecticides c) Sedatives d) Herbicides
QT ARY NG AeOTT -
a) &deorNsd b) dee3ned C) ABCELIT NGO d) RRTXONED
98. Expansion of CNG
a) Common National Gas b) Compressed Natural Gas
c) Converted Natural Gas d) Critical Natural Gas
CNG o 07 @ o
a) Common National Gas b) Compressed Natural Gas
c) Converted Natural Gas d) Critical Natural Gas
99. Higher level of BOD in river indicate that water is

100.

a) Clean b) Highly polluted

c) Contain algae d) Contain many dissolved minerals
ARl ézszﬁ 2. 2. &. fac%d DT SPTD WTBT ?

a) :ézé)mﬁdaa@da b) 300230 OODTTONTITYT

C) TOWOINRATIR)TO d) DATNLL DOERTONTOR) T

Non-green plants like mushroom can’t make their own food because

a) They are small

b) They lack chlorophyil

c) They lack photo tropism

d) They lack roots to suck water

BRATINVD RN R,08 STITREBS SRTEIHDL) , FoTED
a) %) zsgwaﬁdogd

b) ©PINYY TSHOB) VYA

C) &) 23@55;13{ 2T Y.

d) esxnen VLTI, LT B3eTONED AT OY.
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